EEH : 2024/4/14

20245 (RO)EE HF40E RR# Y S TS TE—EFHEXE

1 11:00 | Ca-Div2 e-1ffi WREFF—X 74 0 EAATR-F-C
2 | 478 =4 12:45 |Ca-Div2 d-1ffi aHEwy 57 29 33| #—ILPrTxURFC
3 14:30 | Ca-Div2 c-15i BfEGWRCY =7 43 | 19 [tHER®I) -7y M -IMEZE
4 Bt 11:30 | Ca-Divl b-1ffi RREKEASE 41 19| AHZEA—ILHT—X
5 =1 13:15 | Ca-Divl b-15f EREWMM 54 0 NSSH—
48148 11:00 N—*11)—XB IYRSST BEFEHN
6 = 12:45 | Ca-Divl a-1ffi N—Fa1)—x 103 0 KBHYST
7 14:30 | Ca-Divl a-1%f RFCY U4 S HER 0 35 2—/\—< VRFC TRRAL
e AM ERE%E
8 'E’,A#F 12:15 =TSR F1nN—X ETFHESN
9 | 4R21H 14:00 |Ca-Div2 d-2fi| #—ILP 2P+ URFC wEISD
10 - 13:30 Cb-f-1%f FAMNET—X BE R F—X
11
12 KR 10:30 | Ca-Divl b-2%i| HH=ZEA—ILHh<—X EfiZWMM
13 12:30 | Ca-Div2 c-2i F-WIS5 VR HERT) -7y -MERE
14| 4R288 | __ _ 11:00 | Ca-Divl a-2%f X—/3—<T VRFC N—*11y—x
15 'E’,f': 12:45 | Ca-Divl a-2ff KB#HD 5T RFCY U SRR
16 14:30 | Ca-Div1 b-2ffi NSSH— R SR
4F288 = 10:30 FHEER
12:00 FHFERA
5H58 =m 10:30 FHEA
12:00 FHFERA
17 10:00 | Ca-Div2 c-3ffi F-ILITSUR BfAGWRCY =7
18 AR 11:45 Cb-f-2ffi TANNWET—X MY VAR 42 (=D
19 SH128 ~E 13:00 Ch-f-28f A 1)"—=X WERKUF—X
20 14:15 | Ca-Div2 d-3ffi wEYST a5 7
21 . 13:30 | Ca-Divl a-3%i A—/\—7 VRFC KBHYZ5T
22 15:15 | Ca-Divl a-3ff RFCY VA SHE N—Fa211)—X
5E128 = 10:30 FHEA
12:00 FEFEA
SH198 =@ 10:30 FHEFERA
12:00 FHFEA
23 5H190 = 14:00 | Ca-Divl b3ffi NS 573“—_ FAFH=ZEA—ILHh<—X
24 15:45 | Ca-Divl b3 AR SR EfiZWMM
25 — 11:00 |Ca-Div2 RT® Ca-Div2 d-2fi Ca-Div2 e-24i
26 5H26H - 12:45 Cb-f-3ff A1 N—X FAMNET—X
27 - 13:30 |Ca-Div2 RTD Ca-Div2 ¢ -2 Ca-Div2 e-11i
28 15:15 |Ca-Div2 JIEL1Ef Ca-Div2 c-3{if Ca-Div2 d-3fi
29 11:00 [Ca-Divl IET® Ca-Divl b-4fi Ca-Divl a-3fi
30 =B 12:45 Cb-f-45f FK¥YT -24-hA" (FE) 773990 WA (FEEN)
31 6820 14:30 |Ca-Divl IETD Ca-Divl a-4{if Ca-Divl b-3{if
32
33 s 13:30 |Ca-Divl RTD Ca-Divl b -2 Ca-Divl a-11if
34 15:15 |Ca-Divl RTD Ca-Divl a-2fif Ca-Divl b-11if
36| 6A9H =4 12:45 |Ca-Div2 TH#R 258%& Ca-Div2 c-1ff
37 14:30 |[Ca-Div2 T#R 27i%%& Ca-Div2 d-14i
38 11:00 |Ca-Divl T74LiR 2988 & 31 FE 7-81i iR TE B
39| 6A168 = 12:45 |Ca-Divl T5HLR 2085%E 1A 5-61i iR T B
40 14:30 |Ca-Divl TR 33 E 4kE 12 R TE B
41
41 68230 = 11:00 |Ca-Div2 T13ik 2580E 278 E 13-1440 3R E 8
42 12:45 | Ca-Div2 T9iR 36iE ITHEE 9-101iL iR 7E Bk
43 14:30 |[Ca-Divl T3{iR 33E 34E0E 3-AGLRTEE
44 11:00 |Ca-Div2 T11& 3680EF ITE 11-1247 3R 7 B
45| 68308 = 12:45 | Divl/2 A& 38EE A28%E
46 14:30 | Divl/2 AEE; 38ME 4280




